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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 299 344 386 730
AER1TH 1,050 1,151 1,277 2,428
EARI2TH 1,179 984 1,341 2,325
A R ET 2,354 2,308 2,605 4913
BERT1TH 613 582 631 1,213
B ERT2TH 395 391 433 824
B ERI3TH 311 363 313 676
B ERTATH 534 474 510 984
B ERSTH 832 884 882 1,766
I ER6TH 378 389 413 802
HiF = HT 543 578 625 1,203
45 KHT 522 587 619 1,206
HHT 1,001 1,067 1,195 2,262
BEHT 52 52 57 109
A K BT 612 686 713 1,399
7 HT 442 438 457 895
RILHT 457 470 521 991
FORHET 207 187 220 407
RFHT 204 201 235 436
KHET 355 321 367 688
KET1TH 238 239 280 519
XKET3TH 290 334 320 654
XETATH 871 804 978 1,782
fit] LLI BT 2,443 2,735 2,870 5,605
JE LT 996 1,095 1,190 2,285
EHERT2TH 317 455 451 906
EHERISTH 424 521 515 1,036
EHERT4TH 393 461 496 957
EHERSTH 352 396 450 846
EAEHET6TH 215 292 278 570
EHERT7TH 169 251 260 511
=Y:i 336 331 362 693
8 [ T 1,642 1,452 1,699 3,151
=i ET 515 541 629 1,170
2l 3t BT 475 565 553 1,118
N =15 101 112 120 232
+HEFRT A 637 629 700 1,329
L EFHTER 847 754 841 1,595
L HAET 1,960 2,083 2215 4,298
LFH¥ABT1TH 73 120 112 232
LH¥\ET2TH 159 162 180 342




HEZ HH 5 £ i
LFEI3TH 146 151 159 310
EHART4T B 166 183 204 387
XN 217 262 300 562
I == HT 197 204 223 427
M=rET1TH 563 545 529 1,074
Jn=FRI2TH 556 521 569 1,090
JO=fET3TH 425 434 409 843
M=rET4T H 1,056 1,039 1,095 2134
I S5k T 592 590 658 1,248
I=F5di) 217 201 242 443
Jt B BT 29 35 37 72
B[] 398 351 339 690
fHZaE T 825 921 981 1,902
FHRHET 81 76 91 167
1 2 FF T 358 390 421 811
BEFE1TH 98 118 131 249
BEFE2TH 277 305 324 629
T EHT 128 132 134 266
/N BB T 3,128 3,091 3,273 6,364
1R HT 262 280 305 585
YEZF HT 757 738 772 1,510
EXBI1TH 261 245 266 511
=4 ILHT 217 157 125 282
Hh ek HT 26 26 4 30
Tt AT 11 16 12 28
THHEE1TH 730 644 690 1,334
THHEE2TH 528 547 532 1,079
THHEESTH 863 895 1,038 1,933
TEHE1TH 177 179 171 350
TEHRI2TH 810 743 854 1,597
TEHRISTH 166 180 183 363
TEHRI4ATH 97 109 118 227
TEHRISTH 208 229 235 464
T HAET 511 520 549 1,069
THET1TH 345 343 356 699
THET2 T H 467 424 479 903
TH#RBI3TH 199 194 221 415
TET4TH 155 145 174 319
TH#RBI5TH 168 177 205 382
TH#RI6TH 140 167 162 329
HTAEHET 17 16 8 24
T 185 198 176 374
#8)11 HT 46 46 53 99
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HEZ HH 5 £ i

R IHT 296 308 332 640

7B KHT 1,648 1,621 1,764 3,385
FSIED 263 313 297 610
XHILET1TH 831 717 898 1,615
XHILET2TH 314 343 365 708
X#ILET3TH 154 145 164 309
18 R T 44 67 72 139
hHET1TH 388 413 404 817
hHET2TH 469 463 519 982
hHBEI3TH 456 511 503 1,014
niEld:) 252 220 267 487
th 2 JEHT 216 197 222 419
ch T 134 127 161 288
FRAHT 772 859 857 1,716
At FAET 884 873 993 1,866
75 K ERET 775 938 984 1,922
75 2 [N HET 1,673 1,791 1,935 3,726
A 906 856 947 1,803
$FHET1TH 531 476 503 979
$FHET2T H 399 385 430 815
¥FHETST B 193 196 219 415
T 163 205 216 421
HET1 T B 387 480 497 977
HET2 T B 346 358 406 764
HET3 T B 357 383 433 816
HET4 T B 121 118 149 267
J\ & T 994 1,053 1,094 2,147
J\HHT 157 191 184 375
+ A ERT 248 272 306 578
T A HT 1,612 1,585 1,791 3,376
THB1TH 22 20 16 36
THRB2TH 1,467 1,330 1,337 2,667
T4HBI3TH 194 176 163 339
THRBI4TH 374 299 369 668
THBI5TH 915 617 915 1,632
T4HBI6TH 660 654 700 1,354
THRI7TH 345 356 412 768
T4HBISTH 376 395 420 815
THRBOTH 408 443 501 944
THB12TH 238 256 269 525
T+4R13TH 318 361 385 746
o NIEL] 1,963 1,672 1,928 3,600
HARRHET 1,386 1,238 1,168 2,406
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HEZ HH 5 = 5
F AR K/ ET 294 369 386 755
EH AR ERT 160 163 163 326
- WNEL] 130 115 133 248
FH AR hHET 207 225 262 487
FHARAKHET 442 457 493 950
& AR EHT 317 330 368 698
HARE)IIHT 277 258 290 548
=N ] 114 120 135 255
FH AR JTHT 99 95 105 200
EARERHE 667 568 639 1,207
B K BRHET 384 401 408 809
Edsa] 888 874 1,008 1,882
BEFET1TH 753 724 738 1,462
BEIFRI2TH 595 593 678 1,271
BEFRISTH 343 403 403 806
Al Ffr BT 1 2 1 3
AIFTET1TH 427 386 424 810
AIFFAT2T B 597 599 668 1,267
AIFTET3T B 660 744 807 1,551
A HT 183 194 184 378
H_LH 248 314 337 651
NER) 797 740 819 1,559
ERL 785 944 936 1,880
= HHT 1,723 1,894 1,961 3,855
HETHRET1TH 574 607 650 1,257
HLARET2TH 516 594 631 1,225
HLIREISTH 294 369 366 735
P fx T 315 359 385 744
mERI1TH 1,170 1,118 1,253 2,371
mERI2TH 854 950 1,051 2,001
FA T 1,351 1,354 1,524 2,878
= RITET 520 481 534 1,015
= AHT 352 282 323 605
AR#4HT 8 6 4 10
) 513 560 507 1,067
SHET1TH 713 620 765 1,385
S HET2TH 407 436 468 904
aHEI3TH 858 725 876 1,601
S HET4TH 769 613 826 1,439
E& T 1 1 0 1
J\BRET1TH 219 248 272 520
J\BRET2T B 223 219 239 458
J\BRET3T H 248 307 313 620
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HEZ HH 5 £ it

1T HT 299 419 408 827
FIEIET1 T B 164 194 199 393
FIEIET2 T B 304 432 463 895
FIEIBISTH 112 180 173 353
FEOER1TH 143 214 215 429
FEOER2TH 0 0 0 0
FENDERITH 20 18 2 20

BEE 89,283 | 90655| 98,394 | 189,049
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